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Ve (£0) Glaie¥) Al S Al 2 -

Asdia (YA) plaia¥) du S Gladia 22e -

(il gise g8 (latia¥) A S Ciladia dde (e g ALY a5 e oS-

(e la EDE) HLEAY) (g ) -

Ao (1) JLasdU S Al -

D Ay ciladdatl) o 131, ) (6 53

ALY ge anl Wi s ALY dadie o GlatieV) Al S dadie b6l gus 1 cilagletll §
Ala) 8 ead) J8 s 4 S5 (g J) el 18

I JS (o Jah Ban g dady LlaY) qiglhaall g ¢ ladd daa jia Al )

LA e aladiad aae 5 oo gyl 3 Galia )l alall g ¢ AU () Y1 Calall Al aasi
dalad dalall Al s 4ol daiadial) dal ) 8 caal i) Al o3 elils) xie
Go S elila) ¢ 5 ¢ Ll 3 GY) ga 83 gusall Claia (B ey JLSi ) (S Al
L a8 g Als)
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Base your answers on what you studied in | sLo¥13sle -8 Cew)s bo s 5 -2
BIOIOgy: P AGY AN e e

1- Choose only one question (A) or (B) and | 2 (<) 9i (1) o=t gudt i yis) -
then write its scientific term: réede JIAN alall allasael| IS

A) A curved bone binds to down ward Juatiy Jawd s dugia dotac (1)
and attached posteriorly to the centrum | Leisiig 3,5a1) pwomy atstdl (e
of vertebra and its transverse process. o paial

B) A continuous rotational movement of | S o Pt cleas! ()
the cytoplasm in one direction in the | ¢® 25k eIl S rsiuus 219
plant cell. Lo laad

2- Choose only one question (A) or (B) and | p2 (<) 91 (1) ottt guad ) i plisnl - ¥
then give an account on: 143 dguadell Le S
A) Interleukins. olius g0 ,u ¥ (1)
B) The cork formation. SOt (3955 ()
2 A L5
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3- Choose only one question (A) or (B) and | e (&) 1 (1) o3t a5t - ¥

then mention the site and the function. s Al g g d3lSe LIS

A) The endosperm. g ¥ (1)

B) Embryonic membranes. R et O
The site st The Function g,

4- Choose only the right answer of the Lo dadd dovouall Ayl ¥ pisf - ¢
following: r b
The second meiotic division in the N (6 et AL BN Sty
secondary oocyte of human female takes | v aiglaniaca diaas o
place inthe ........ A T NN D ) aee o2 Olus ¥

(@) Grafian follicle. Ay Hliargs @
(® Endometrium. PP @)
(©) Fallopian tube. ogtlaslia @
(@ Uterine cavity. e g2 @

3 A s
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5- Give reason for: 1ol Let Jle - 0
The lymphocytes at the beginning they do | 548 1 et 0S¥ Gglaestst LM
not have any immune ability. g oS3 Ayl o Auclie
6- What would happen if: sie Gidomy f3Lle - 1
Growing tip of a plant is treated with the | jbs Le Sl aelidi dsati antlas
mustard gas? §Ja,!
4 WH 5
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7- The figure below show a T. S. in the O el @D T E) JSAN (upst - Y
testis of a human male, look at it then L AGY ) AL
answer the following:

1) What would happen if the structure
no. (1) is absent? What is the
importance of structure no. (2)?

2") What does no. (3) point to? What is
the chromosomal number for no. (4)?

C))

8(1) S 201 L& 131 rtoms 3L £ ¥ o]
3(Y) 8y caS 4 Aenl Lag
() oy 4l s (g1 Lo <Ll
$(8) B0 apual | 3l Leg

Q)

1)

5 A aals
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8- Compare between the following:

Alpha cells & Beta cells in islets of

Langerhans.

1ot QL8 - A
Al ¥ i o8 Lo LSS g LatT Ly S

Alpha cells
Lari Lads

Beta calls
Lo Lads

6

Al &b
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9- You have a mRNA carries the following
sequence:

2 Sy MRNA ¢ (g5 Elaat -4

zg,ﬂl"

5....AUG — UAU — GUG — AAU —ACC -UAA ....3"

The codons of amino acids were:

oobem Y panu ot 100 93 oI ICHIS

;IS B
Methionine Tyrosine | Valine | Asparagine | Threenine | Glycine
(e 9o O g i3 OIL2 Ome Dbt Ot gyt Oyt
AUG UAU GUG AAU ACC GCG

Answer the following:
1*Y) Write the anticodons on the tRNA to
the previous sequence.
2"9) Write the sequence of amino acids in a
polypeptide chain translated from this
strand.

z@?t Al C,.c%i

e 09395 Ohlcns o oS! :’}'31

.Gkt oty tRNA

B A ¥l (olea ¥ aulis oS! Lol
S A st e Al
Sl

s3g>gatl Ologlaoll (ads
.@L‘Atel::d|

10- Choose only one question (A) or (B) and
then give reason for the following:
A) The twinning of tendril around the
support in plants.
B) Formation of the transverse links that
extended from the myosin filaments of

the muscle fiber.

e @3 (&) 9f (1) o1t iy - 4
Saele ! J g 3Mamatt calantf (1)

duliaat! MM‘@'}’N 3959 (u)

adl) (B (rewgiad! gs (40

W s
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11- Choose only the right answer of the 1ol Loa dadd Aoviuial| Ayl W1 sl - 1)
following: Ao al alewa ¥ pens LA LSS
The cells that destroy foreign bodies, and | a.ian wie acal Lsts 31 Jgoiig
change into phagocyte cells when needed | ... LM o
is the..... . n

(@) Mast cells. ALl @
(b) Basophils. et (Q)
(©) Eosinophil. Az ()
@ Monocytes. 319301 B g @
12-Explain the following statement: r ik Lo puud - \ Y
Thq ;ndqmetrium enlarges after the Lk gea g oo 11yl ncials
fertilization of ovum. i pd! Clas | 3 pmas
13-What would happen after: s Gy 13ke - \ Y

The disappearance of nucleolus from the | s cbmmn Lot o ugittelazss
nucleus of eukaryotic cell?

8 AN
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14-Write the scientific term:
Binding antibody to more than one

microbe, this leads to the adhering of

microbes on the same antibody, this
makes them weaker and liable to be
engulfed by phagocytes.

15-Mention the number of chromosomal

sets in each of the following:

A) Ookinete in life cycle of plasmodium

(malaria parasite).
B) Secondary oocyte in the ovary.

16-Choose only one question (A) or (B) and

then compare between:
A) Perforating protein & Lymphokines.

B) Cytotoxic T-cells (Tc) & Helper T- cells (T ).

le 1A malall llaiaal) CIS) -V E
1 AGY) 3 ylal
8L d 193 sliaat| gt dolidyl dules
ol e Dilg ,Seadl panig g ySe (o
Wiy o puaiy Lganing Las sLiaal ) gunt!
JAaald I LSSI IS (e algid S

13 S 2 Aiuall Ole ganall 3k 831 - 10

> 5598 (-2 ‘_,5);-._”)3_!4_”—\
-Lydatt pgasga) S
Al 09l Acacd LTI - ¥

13 (@) 9l (1) o1 3ud ) i 5t - VY
1O L8
DL gty (3593 pdd | Sl po - |
LSy Alilat) Al LSt - o
Baeluat! 251

W s
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17-Mention the site and the function of the
following:

1) ACTH.
274 ADH.

1O JS Aaddgg HISae S -\ Y
ACTH .%,i
ADH .1

The site st

The Function zaasg

ACTH

in

ADH

Loy

10

Al &b
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18-Look at the following figure, then answer
the following:

1% Write the labels nos. (1), (2) & (3).
2") Write what the part no. (4) represents?

Cé / ()

@)— s
N
O—,

19-Choose only one question (A) or (B) and
then write its scientific term:

A) Proteins that stop the virus’s
multiplication as those that cause
influenza and poliomyelitis.

B) Proteins play a role in the spatial
organization of DNA within the nucleus.

11

T

Clolel (UM JSEH (puyal - VA
zMY!lL‘wy‘&c%;pS
'(r)ﬁ (Y)ﬁ(\) iﬂu‘-&d‘g‘g’lﬂ :’1’31

(£) 8 51 A yadis Lo S LS

/

3
(™)

)

@3 () 91 (1) o3t s it - 14
rdde JIdh elall mllaael | LS|
Ol g pal) Caclind (a8 g3 Olidigpm — |
Sl Y g 153 9Lad Y g rid o
p9al IOl p M degams - o
DNA 500 a1t euaitly
R{P {EEN

W s
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20-Choose only one question (A) or (B) and
then mention the importance:

A) The posterior part of the skull (cerebral
part).
B) Pulling roots in corms and bulbs.

21-Choose only one question (A) or (B) and
then give reasons for:

A) The gametophyte of Polypodium is
haploid.

B) The testes lies outside the body in the
most of Mammalia.

12

@ (@) 91 (1) o1 aud ) A it - Yo
1093 a9
FPCDUN (JIOI-TER (PSON (R
RSP PN (P (P T-NEATRPREN [P

@ () 9 (1) o1 guadt s st - ¥
e
@b e 52l diadt Lot
Shduall Ae gl
R pn I obS (bt sga g o
SOl elane
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22-Show how to obtain:

A number of planaria worms from one
worm?

Ade e Jguandt ((Sas a8 mog - VY
Al STuly Lo yBOd Gids e
.dadd 19339

23-Choose only the right answer of the following:

The cells that regulate the degree of immune
response required to limit and discourage
after elimination the pathogen .........

Helper T-cells.
Cytotoxic T-cells.

Suppressor T-cells.

®O0eE

Eosinophil.

24-How can scientists obtain a plant strains
do not need nitrogenous fertilizers?

ol Lot daZd Aomeonial| Zala 1 251 - YY
@@Y‘b))p—&ﬁ&d' (WY ]
...... ‘:,m,g.\h.d!.p..u el

e Lunad) 2SET LS
AL | AL LS

FUNCRIPRCITRVERT

OO®OO

cinalon s Liac ) LS

e Joasd! (e ¢ Lalal! (el oS - Y ¢
Bbawl (o LT ¥ AGLA OV M
s -

3 -

13
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25-1f the ribonucleated sequence of mMRNA as | G oS o890 1 a3L5 oIS 131 -Yo
the following: 1SS MRNA day 2 e

5\ .....AUG — CCU — UGA — GCA —AUG — UAA ......3\

1Y) Write the nucleotides sequence resulted | a3l ol sdS 53 ol cast - ¥y
from the action of reverse transcriptase | b gl 1is dlelas (e
enzyme on this sequence. Sl et

2"%) How many amino acids formed during | *#¥' o2lex¥lglsl sae o8 lobs
transcribed from this sequence? L 10b Ao )3 e 10 45Tkl

26-1llustrate by drawing only with complete | 2oUS a» dagd @ uwdb iy -1

labels the structure of the muscle fiber. Adaal) Aakadh) coiS 3 OLaled!
Okl 2
14 Al FX]]
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27-Look at the figure below then answer: 1o Lee Cani @8 TN IS (upal =YY
1*") What does no. (3) represent. S(1) iy £t ! ey ke : ¥
2") How are the antigen-antibody O e (3980 LS <31
complex formed? Saliastl uantly

i due et Zoliw ¥ g g5 Le I

39) What is the type of immune response
S83liact alus Wi a9 g e ciatial

which depends on the presence of
antibodies?

28-Choose only one question (A) or (B) and | 2 (&) o (1) ot gadt i 551 - YA
then give reason for: e
A) Sexual reproduction may occur 358392 9 pd ) uudind| AL @y i |
although the presence of one parent. )
B) Using of coconut milk in tissue culture | /2% & 26! = ol phasiut o
experiments. ¥ el

15 A s
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29-Choose only the right answer of the
following:
During the second infection with the
same pathogen the memory cells start
dividing quickly to produce large
amounts of the....................

Lao dadd Aovonall A3l il - Y4
yan

OOSI udd pe 2L Agalmalt £ LS

Lo i 3,S1201 LS @uudtd (1 ool

(@) Antibodies and the fixed macrophages. st Lol iladi sl 1

@ Antibodies and the active T-cells.

Active T-cells and the major histocom-

patibility complex.
@ Active T-cells and the mast cells.

30-Write the number represents the
following:

1*%) Pairs of ribs connected to the sternum.
2") Foot and the ankle bones.

16

Az G L g 3liaed | plus ¥ @
| BRI (39 pag Al il AL L 1 @

skl L g Aadid | AGEN L

Lao JS (le JIat) @b bl . S30 - ¥
3l
5| ey ol 1 g 4L 1530 ¥ 51
NS PRY. (PN PRNPL R WIL

Al &b
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31-What are the results of: r ol A yilel) g oo La - ¥
Nuclei from toad embryonic cells at| azc.sanzmiuss o mgpiag
different stages of development Were | ... iz, set aatis goie
removed and transplanted into unfertilized o

i Slgin gl ¢35 uw paliadal Acasne pud
toad eggs whose nuclei had been removed. Femet e

32-Write the scientific term: ole JIA melall mllaaall TS| - Y'Y
293‘,3 Lo
e el Ly ST it Bl 3150

Chemical substances recruit of large
circulating phagocyte cells which are

found in blood to sites of existence of Ege 92 ptl (B A8 poiadl deal !
microbes in mature female? Slag pSatl a9y
33-What would happen with: 1 e Gty 13Le - YT
The increase secretion of testosterone 5,8 it Aot | il g0y 51,1530
hormone from cortex of the adrenal Blpal (8 A aSH Buall 5, id (pse
glands in mature female? $amols
17 Al Fa1Y)
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34-Choose only one question (A) or (B) and
then compare between the following:
A) Tonsils & Peyer’s patches.

B) The epidermal cells of the plant & the
cell wall (concerning: the definition).

103 (@) 9F (1) 1 3uadt s § pisnf - Y8
1000 IS Gy (1B
b pag Oyl -
PZVES (IRNOR (P PPN [T
OLAT (8 2 5 helieS

CIA 7 (VG o)l - A=alyol) dulinl) A
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35-The following figure represents DNA DNA e L das Jan G JS&I1 - Yo
replication, then answer the following P ALY A e ol @ Ay
question:
I*Y) The part (B) show...... | e Jie3 B aatazrs ¥
a) Template strand of DNA. wotatt DNA gy s -
b) Replicated DNA strand. #ouiatt DNA & -
¢) Promoter sequence. ) ﬂ’-" ‘ c—"—u-:-
2) Which of (B or C) formed in the form | < &35 "9"""“@‘ Ly
of small pieces? (C5idB)
3) Which enzymes needed to build each | & d5 5t pr ¢! mp¥i Lo b
of (B & C)? 3(C) (B
3 A
™ N N T [ . N
D B X
3
C E
/5 N A I I NN N A I B |
19 Al Fa1Y)
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36-What is the role of each of the following: | :5eJs 43pgds it Houdt S0 - ¥

1*") Epididymis and prostate gland in S5 b By yd1 5k ling o1+ ¥
human male. Ol
219) Finger-like ends in funnel of fallopian | ©#® &8 o ase¥! wdiajii slols

tube and vagina folds in human female. | <4¥' o!e? daltalss

37-Choose only one question (A) or (B) and | @2 (&) i (1) & 13udt i a0 - YV
then write its scientific term: rdgle JIuM alall llaael | LIS
A) A flower has (4) floral whorls, leaves Il A ) Sl a1 LT By - |
of each whorl alternate with that of the | dax>e!! sl es Lete S Girsl
next whorl. Ay 50
B) Single cells are adapted for direct Brabis il Bygoie by LS - 0
growth into complete plants. dels Sliks o)
20 Al Fa1Y)
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38-How can DNA hybridization be used to | i plaixin) EliSey oS - YA
tell whether a particular gene is present | (e 2 st 859501 et

in its genome and in what amount? olg—ine J513 (pae (i 392 9
TS g !
21 A aals
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39-What would happen when: 1 ole A ylel) AL Lo - ¥4

Destruction of infected red blood cells | aiima i, amni putr ail,s cos

with merozoits of Plasmodium malaria. Sy Shatl g 9035 Ol 535 ko

40-Choose only the right answer of the Lo dadd Asvouall Aala Wiyl - £+
following: yan

The embryo has the ability t0 reSPONSe | aloiuyi e 5yuatt a1 it pocy
for stimulation during the ....... month of VORI PR QORI
pregnancy..

3t eaa ()
4t & Q)
6th cowakad | @
g et (3)

®O06

41-What would happen when: s e Gy 13Le - £ )
Binding of antibodies to the outer coats of | aate¥lLisslaastl pbowa ¥ dolys )l
the viruses. Sl g pell] o sL1
22 Al Fa1Y)

CIA 7 (VG o)l - A=alyol) dulinl) A



LI 90 - (A 3ulad WI AR £ LT Yo VALY WY ol yAM) aladt - Aalat) A 9300 dhaat 51 ALEY Bl lonsial

42-Compare between the following:

The male and female genital system
(concerning: the function)

108 JS iy QL8 - £ Y
gty ,Siadt lealititt jlgon T
G (pa) Olad ¥ (B cogel! Slulial!
(s o1

Male genital system
SO Ll lgat

Female genital system
A Gl jlentt

43-Choose only one question (A) or (B)
and then illustrate by drawing:
A) Germinated pollen grain.
B) Starting with zygospore explain the
stages the scalariform conjugation in
Spirogyra.

23

@3 () 9l (1) ot 3t Ay - €Y
1dadd SLULL) JolS muw o d g
b plat A
Olglad g Hguwsaa Il feuiee -0
.‘ij?|u.ﬂe’ald‘&|ﬂ§y|

W s
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44-Look at the following figure then Loc con i @ L IS (mapal - £ 8

answer: r o
1) What 1s the type of joint between (1) $(1) (V) (i Jumaiod g 95 Lo ¥

and (3)? S5 ol e s f3le L1
2") What would happen when absence the 5(Y) pds

structure no. (2)? e (1) i) cuS il Juass cass LI
31%) How can structure no. (2) be obtained | oz =t oe fenle

its food and oxygen needed? ez G caS i deeal e slaa
4™y What is the importance of this structure Al 4

in figure?

24 AWwN pals
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45-1f you have gene carry the following Slasliid | o (i Lo OIS 13) - £ 0
sequences of DNA contains the following (il ) am] oo AIET
sequence:

’3... TAC — TCC — TAC — TCC - ATT...”5

Answer the following: i) e lsall al LaS1 Y
1) Write the sequence of nitrogen bases | s« MRNA sg52 e
on transcribed mRNA from the Boluad ! day 22| (0
previous strand. Ace ¥l yolea¥sne S Lol
2d) Write the number of amino acids £ 5 B T e DLt
produced from translated part of .mRNA
mRNA. tRNA 41551 s o o5l
37) Count the number of tRNA types used | sies e 8 dousiust!
in this translation.

aled cg

CIA 7 (VG o)l - A=alyol) dulinl) A
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